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[ The U.S. demand curve for foreign currency is drawn holding constant all except one of
the following factors. Which is the exception?
(A) income in the United States '
(R) the inflation rate in the United States
(C) incomes in the rest of the world
(D) ihe interest rate in the United States relative to the rest of the world

2. According lo the purchasing power parity theory, in the long run
(A) the exchange rate between any two currencies should be equal all over the world
(B) the vatue of the dolar should equal the value of the pound which should equal the
value of the yen
(C) inflation rates should equalize around the world
(D) the exchange rate between the Canadian dollar and the British pound should reflect

differences in price levels between Canada and Britain

1. If we observe an economy adjusting to potential GDP as prices fall and real output
increases,
(A) it was experiencing an expansionary gap
(B) the correction involves a shifl of the AD curve
(C) il was experiencing a confractionary gap

(D) self-correction is not the process that is occurring

4. If those who favor an active approach to policy think that the natural rate of
unemployment is much lower than it actually is and act accordingly, the long-run resuit of

their error will be

{A) Unemployiment (B) a higher level of potential output
{C) a higher price level {D) a lower price level
5. As the price level rises, money causing interest rates to and

investment spending to L
{A) demand rises; fall; fall (B) demand rises; rise; fall
{C) demand falls; rise; rise (D)) supply rises; rise; fail -

6. Suppose a commercial bank’s reserves increase by $3,000 and the bank, which holds no
excess reserves, makes a Joan of $2,400. What is the required reserve ratio?
(A} 0.10 (B) 0.20 (C)0.25 (D) 0.75




# 8

EA R C SR T 3

+ 5148 4 A WA
é’&/zﬁ%\’f DR M ala) A RS

7. When the money market is included in the model, if the MPC is 0.6 and government
purchases increase by $100, then real GDP will rise by
{A) $250
(B) more than $250 because interest rates will rise
(C) less than $250 because interest rates will fall
(D) less than $250 because interest rates will rise

8. For monetary policy to be effective in changing planned investment spending,
(A) interest rates must not be responsive to changes in the money supply .
(B) interest rates must be sensitive lo changes in Gross Domestic Product
(C) investment must be sensitive to changes in interest rates

(D) investment must be sensitive to changes in the spending multiplier

9, In the aggregate demand-aggregate supply model, a decrease in the money supply will
cause in the short run a(n)
(A) increase in both the price level and real GDP
(B) decrease in both the price level and real GDP
(C) increase in real GDP and a decrease in the price level

(D) decrease in real GDP and an increase in the price level

10. A bank manager who wants lo increase profitability would likely
{A) hold more of the bank’s assets in required reserves
(B) hold more of the bank’s assets in excess reserves
(C) reduce the liguidity of a bank’s assets
(D) meet all depositors’ requests {or funds with little trouble

1. When governinent purchases increase and its net taxes decrease,
(A) the money supply must rise (B) the aggregate demand curve shifts leftward
(C) aggregate supply moves rightward (D) output and employment tend to increase

12. What set of policies could the government use to close an expansionary gap?
(A) decrease taxes, increase government purchases and transfer payments
(B) increase taxes and transfer payments and decrease government purchases
(C) increase taxes, decrease transfer payments and government purchases

(D) decrease taxes, transfer payments, and govemnment purchases

13. Suppose U = the number of adults who are unemployed; E = the number of adults who are
employed; and NLF = the number of adults not in the labor force. Which expression

would equal the unemployment rate?
(A) U/AE + NLF) (B) U/E {C) UA(U +E) (D) UKE + NLF)
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14. Which of the following is most likely to reduce structural unemployment?
{A) a reduction in wage rates
(B) increasing efficiency of the job search through better information on local job openings
(C) retraining workers in marketable skills

(D) promotion of full employment through government stabilizalion policies

15. The economy is in equilibrium white there is a trade surplus and saving is less than
investment. According to the circular flow model, the government’s budget
(A) is in deficit (B) is in surplus
(C)is balancefj (D) could be in a surplus or a deficit

16. A shoricoming of national income accounting is that it ignores
{A) the deprecialion of manufactured capital
(B) spending by poor households who are receiving government transfer payments
{C) spending on items such as handguns and attack dogs, since they represent a decline in
social well-being
(D) the depletion of natural resources

t7. A recession is best defined as a period during which
{A) the percentage of the population employed is declining
(B) employment, output, and income decline
(C) the price level is declining

{D) more resources are used

18. Consider the following table. The numbers in the table represent the total revenue the firm
will receive if they sell N uniis to a particular buyer. For example, if they sell 20 units to

Buyer 1 the firm will receive $490.

Buyer I | Buyer 2 | Buyer 3 | Buyer 4
0 Units 0 0 4] 0

10 Units | 250 230 220 210
20 Units | 490 430 420 400
30Units | 700 610 590 570
40 Units | 850 760 750 730
If the firm has a capacity of 100 units, if the cost to produce one unit is $10, and if the

firm can only sell 10 units as a time, how many units should the firm sell to Buyer 3 if the
firm is trying to maximize revenune?
(A)Ounits (B) 10units  (C) 20 units (D) 30 units
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19. Suppese you own a business and your own price elasticity is -0.80. In addition, suppose
your advertising elasticity of demand is 0.30. If your marginal cost per unit is $4, what
is your optimal advertising-lo-sales ratio?

(A)0.375 (B)0.625 (C)2.670 (D)1.600

20. We could use the term “bandwagon effect” to describe which of the following situations?
(A) 1 get great satisfaction from collecting rate coins because few people have them.
(B} I purchase Eudora Pro as my e-mail software package because all of my friends and
family use it. .
(C) I purchase more chocolate bars because the price of chocolate bars falls.
(D) I decide not to purchase a Toyota Camry because, as I tell my friend, “Every other car

on the road these days looks like a Camry.”

21.1f STC =200+ 20 + 40", and all fixed costs are sunk, the firm’s short-run supply curve is

(A) S(P)={o P2y S(P):{o P<?

1480 P22 0.125P-0.25 P>2
0 P<o

©) scpy= 7 D) ypmy=t? £<0
2180 P20 D.I2SP—025 P20

22. Congider the following three market baskets:

Cheese Crackers
A ] 8
B 15 6
C 10 7
1f baskets A and B are on the same indifference curve and if indifference curves exhibit

diminishing MRS:

(A) Cis preferred to both Aand B.  (B) A and B are both preferred to C.
(C) C is on the sante indifference curve as A and B.

(D) Either {A) or (B) is correct, but not (C)

23. Which of the following is NOT a real-world example of second-degree price
discrimination?
(A) A pizza parlor sells large and small pizzas. Although the large pizzas are twice as
big as the small pizzas, they cost less than double the price of a small pizza.
(B) An electric company sells “blocks™ of power at different prices. Specifically, any
customer who buys more that Q; units of electricity can purchase additional units a
lower block price. - .
(C) Sam’s Club® warchouses sell bulk quantities of macaroni and cheese for a cheaper
per unit price than a grocery store, but the boxes are packaged together so that the
customer must buy six boxes at a time.
(D} A movie theater charges senior citizens a cheaper price for movie tickets than it

charges non-senior citizens for the same movie ticket.




SLP L KRB Z R AR A AR
#re o 47 U@’zﬂéf’f‘)w‘i) £ bRw $n

24, |dentify the truthfulness of the following statements.
I. It is possible for an Engle curve to be positively sloped for a certain region of income
and negatively sloped for another region.
II. The income clasticity of demand for a normal good is negative.
(A) Both 1 and If are true (B} Both I and 11 are false
(C) s true; [ is false (D) Iis false; 11 is true,

25. A real-world example of two products that exhibit vertical differentiation is
(A) Coke and Pepsi. (B) Peanul butter and jelly. (C) Orange juice and lemonade.

(D) Starbuck’s coffee and a grocery store’s generic brand of coffee.

26, Suppose._that Bill, George, and Al constitnte the entire market for consumers of nationa)
defense. Each man has an identical demand curve for national defense, which can be
expressed as P=30-0Q. Suppose {hat the marginal cost for national defense can be
expressed as MC =3$30. What is the optimal quantity of national defense? '

{A) 150 units. (B) 60 units (C) 40 units. {D) 20 units.

27. Suppose thal 2 smoker and a non-smoker are sealed next 1o each other in a restaurant.
This restaurant does not offer a non-smoking section.  The smoker is indifferent between
1} smoking and 2) not smoking and consuming a $6 dessert. The non-smoker values
being able to eat in a smoke-[ree environment at $10.  According to Coase’s Theorem,
and assuming no bargaining costs, what will happen?
(A) The smoker will continue to smoke because that is his right.
(B) The smoker will stop smoking, just to be a nice guy.
{C) The non-smoker will offer to pay the smoker between $6 and $10 to stop smoking, but

the smoker will refuse because he has the right to smoke.

(D) The non-smoker will of{er to pay the smoker between $6 and $10 to stop smoking,

and the smoker will accept the money and refrain from smoking.

28. A farmer uses M units of machinery and L hours of labor to produce C tons of com, with
the {ollowing production function ¢ = £** + M*" . This production function exhibits
(A) decreasing returns to scale for all output levels
(B} constant returns to scale for all ouiput levels
(C) increasing returns to scale for all output levels
(D) no clear patiem of returps 1o scale

29. Use the following two stalements Lo answer this question:
I. Increasing returns to scale cause economies of scale.
H.Economies of scale cause increasing returns to scale,

(A)Both I and [T are true. (B} Iis true and IT is (alse.
(C) Lis false and IN is true. (D) Both T and 11 are false.
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30. Suppose over time that a firm’s production process incurs capital-saving technological

progress. This implies _

{A) the isoquants corresponding to any particular level of output will shift outward from
the origin and the MR7TS,, along any ray from the origin will increase.

(B) the isoquants corresponding to any particular level of output will shifl outward from
the origin and the A7R7S,, along any ray from the origin will decrease,

{C) the isoquants corresponding to any particular level of output will shift inward toward
the origin and the MR7S,, along any ray frorn the origin will increase.

(D) the isoquanis corresponding o any particular level of output will shift inward toward
the origin and the MRTS,NK along any ray frora the origin will decrease.

31. Suppose a decision maker has a utility fanction U =7 and is faced with a lottery where
there is a 30% chance of earning $30 and a 70% chance of earning $80. For which of the

{olowing guaranteed payoffs would the decision maker not choose the lottery over the

guaranteed payofT?
(AY$70 (B)360 (C)3$50 (D)340

Game 1
Player B
Bl B2 B3
Al 10,12 8,8 12,10
Player A A2 9,3 7,0 11, 8
A3 8,5 9,4 14, 10

32, For Game 1 above, the players make their choices simultaneously, which of the following
statements is incorrect?
{A) Player A choosing Al and Player B choosing B1 is a Nash equilibrium.
(B) Player A choosing A3 and Player B choosing B3 ts a Nash equilibrium.
(C) Player B has a dominant strategy in this game.
{D} Player B will never choose 32 in this game.

33. Suppose in Game 1 above that the players make their choices sequentially, with Player A
choosing first.  The Nash equilibrium in this game will be
(A) Player A choosing Al and Player B choosing I31,
(B) Player A choosing AT and Player B choosing B3.
(C) Player A choosing A3 and Player B choosing Bl .
{D) Player A choosing A3 and Player B choosing B3,

34. An example of a good that is nonexclusive but rival is
(A) hunting in & public game area. (B) national defense.
(C) public radio. (D)} a pay-TV channel.
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1. Which of the approaches to job design is most concerned with the possibility of
meaningful work?

. & Job enrichment

Job rotation

Job enlargement

IR

Automation

2. In the popular description of industry life cycles, the growth stage is immediately

followed by

a. Decline

b. Development

c. Maturity

d. Competitive adjustment

3. The most prominent factor in assessing competitive position in an industry is
a. Productivity of the work force

b, Market share

c. Physical resource quality

d. Physical distribution facilities

4. A work factor that is not an example of a “hygiene factor” is
a. Work that aliows peisonal growth

b. Considerate supervisors

¢. Good pay

d. Good working conditions

Which of the following best characterizes the work of Frederick Taylor?
. identifying responsibilities and functions at their strategic level.

5

a

b. finding the one best way to accomplish physical tasks.
c. developlng techniques of management development.
d.

recognizing that socizl relauonshlps are important on the job.

6. 1SO 9000 refers o the International Standards Organization (ISO) certification to
ensure

a. quality products and services

on-time delivery

adequate safety standards in products and services

L

compliance with worldwide workplace equality standards B

7. Maslow postuhteﬁ {hat everyone has five basic needs, which constitute a need
hierarchy. In ascending order, beginning with the most basic, they are

a. physiological, safety, social, esteem, and self-actualization needs

social, safety, physiological, self-actualization, and esleem needs

safely, physiological, esteen, self-actualization, and social needs

e oo

esteem, social, physiological, safety, and seif-actualization need.
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8. The leadership schoiar thai coined the terms “Theory X and “Theory Y~
management was

a. Robert Blake

b. William Ouchi

¢. . Sheila Puffer

d. Douglas McGregor

9. Which of the following is not one of the assumptions that underlics Theory X

management?

a. by their very nalure, pecple do not tike to work and will avoid it whenever -
possible,

b. workers have littte ambition, try to avoid responsibility, and like to be directed.

the primary need of employees is job security.

_(3

d. he expenditure of physical and mental effort at work is as natural to people as

resting or playing.

10. Which of the following leadership styles is best summarized by the stalement,
“work hard and the company will take carelofyou.”

a. autocralic

b. authoritarian

15

participative

&

paternalistic

11.  “Learning organizations” are typified by a continual focus on:
a. planning and recruiting

b. organizing and comtrolling

c. training and development
d

pianning and organizing

12, Which of the following is false regarding divisional departmentation?

a. Departmentation by location is recommended when customers’ needs vary in
different geographic locations.

b. Departmentation by product line makes sense when an organization’s products are

highly similar.

Departmentation by customer group works well when an organization serves

&

different categories of customers with distinct needs.
d. Pepartmentation by product line is appropriate in large organizations because it

promotes coordination.

13.  Which of the following statements is true regarding span of control?

a. A small span of control requires fewer managers.
A large span of control is possible when employees perform tasks that are similar
and standardized,

¢. The span of control is generaily larger at the top of an organization.
An crganization reguires a large span of controd if employees need to frequently

consult with a manager.




BNV NI - P - o - B o L 2 e Ve |

gy cfFn [oReEfimty Fal

A48 23R

4.

a.

Which of the following statements is true?
Upward communication frequently involves performance feedback.
Lateral communication often is used to send complaints through the hierarchy.
Downward communicalion is often used for problem solving,

Upward communicatior. frequently takes the form of progress reports.

When properly used, systems thinking and conlingency thinking
provide a set of clear, unified principles which can be applied unthinkingly to all
management problems,
expand on the work done by Henri Fayol in responding to a need to prevent waste
by making work more systematic,
should be helpful io achieve the overall goals of the organization existing in the
larger environment and culture.
utilize a few guidelines to apply to all situations.

The representationat function of management takes place through the

and roles.

figurchead, spokesman
resource allocation, negotiator
disseminator, monitor

liaison, disturbance handler

The decision to re-orcier an item for inventory stock is a
strategic decision
planning decision
Satisficing decision
Programmed decision

Which of the following would be viewed as single-use plans?
rules
policies
budgets

procedures

is not cue of the five core dimensions of work.
skill variety
task identity
task significance

dependence on others

An advantage of centralization is that it
allows top managers to keep the organization focused on organizational goals.
gives top managers time to focus on strategic decision making.
Increase the motivation of middle ménagers.

Encourages flexibility.
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21.  Which of the following is not a characieristic of an organic structure?

a. Integrating mechanisms are complex. ’

b. Coordination is achieved through standardization.

¢. Roles are loosely defined,

d. _ Both the informal and formal auvthority relationships change in response 1o

changing internal conditions.

22, Which of the following type of strategic alliance is the most formal?
a. Cooperation agreement

b. Network

¢. Long-term coniracts

d. Joint venture

23, Which of the following funciions would be responsible for implementing a
just-in-lime inventory system?

2. Human resources

b. R&D

¢. Marketing

d.

Materials management

24.  Which of the following is an advantage of a focus strategy?
a. Economies of scale

b. Economies of scope

c. Customer responsiveness

d. A larger domain

25, Which of the foltowing items is not a characteristic of bureaucracy as described
by Max Weber?

a. adivision of labor,

b. Favoritism among einployees.

¢. A well-developed hicrarchy.

d. Impersonal interpersonal relations,
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1. The U.S. demand curve for foreign currency is drawn holding constant all except one of
the following factors. Which is the exception?
{A) income in the United States
(B) the inflation rate in the United States
{C) incomes in the rest of the world
(D) the interest rate in the United States relative to the rest of the world

2. According to the purchasing power parity {heory, in the long run
(A) the exchange rate between any two currencies should be equal all over the world
(B) the value of the dollar should equal the value of the pound which should equal the
vatue of the yen
{C) inflation rates should equalize around the world
(D) the exchange rate between the Canadian dollar and the British pound should reflect

differences in price levels between Canada and Britain

3. If we cbserve an economy adjusting to potential GDP as prices fall and real output
increases,
{A) it was experiencing an expansionary gap
(B) the cotrection involves a shift of the AD curve
(C) it was experiencing a contractionary gap
(D) self-correction is not the process that is occwrring

4. Ifthose who favor an active approach to policy think that the natural rate of
unemployment is much lower than it actually is and act accordingly, the long-run result of

their error will be ,

(A) Unemployment (B} a higher level of potential output
(C) a higher price level (D) a lower price level
5. As the price level rises, money causing inlerest rates to and
investment spending to . :
{A) demand rises; fall; fall (B) demand rises; rise; (all
(C)demand falls; rise; rise (D) supply rises; rise; fall

6. Suppose a comimercial bank’s reserves increase by $3,000 and the bank, which holds no
excess reserves, makes a loan of $2,400. What is the required reserve ratio?
(A) 0.10 (B)0.20 (C)0.25 (D) 0.75
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7. When the money market is included in the model, if the MPC is 0.6 and government
purchases increase by $100, then real GDP will rise by
(A) 5250
(B) more than $250 because interest rales will rise
(C) less than $250 because interest rates will fafl
(D) less than $250 because interest rates will rise

8, For monetary policy to be effective in changing plarined investment spending,
(A) interest rates must not be responsive to changes in the,monej.,f supply
(B) inlerest rates must he sensttive to changes in Gross Domcstic Product
(C) investment must be sensilive to chranges in interest rates '

(D) investment must be sensitive to changes in the spending multiplier

9. In the aggregate demand-aggregate supply model, a decrease in the money supply will
cause in the short run a(n)
{A) increase in both the price level and real GDP
(B) decrease in both the price level and real GDP
(C) increasc in real GDP and a decrease in the price level
{D) decrease in real GDP and an increase in the price level

10. A bank manager who wants to increase profitability would likely
{A) hold more of the bank’s assets in required reserves
(B) hold more of the bank’s assels in excess reserves
(C) reduce the liquidity of a bank’s assets
(D) meet all depositors’ requests for funds with little trouble

11. When government purchases increase and its nef taxes decrease,
(A} the money supply must rise (B) (he aggregate demand cutve shifts leftward
(C) aggregate supply moves rightward (D) output and employment tend to increase

12. What set of policies could the goverment use to close an expansionary gap?
(A) decrease taxes, increase government purchases and transfer payments
(B) increase taxes and (ransfer payments and decrease government purchases
{C) increase taxes, decrease transfer payments and énvemment purchases

(D) decrease taxes, transfer payments, and government purchases

13. Suppose U = the number of aduits who are unemployed, E = the number of adults who are
employed; and NLF = the number of adults not in the labor force. Which expression

would equal the unemployment rate?
(A) U/(E + NLF) (B) U/E (CO) U/(U+E) (D) U/AE + NLF)
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14. The unemployment rate will increase whenever there is a(n)
(A) increase in the number of persons classified as unemployed
{(B) increase in the number of unemployed relative io the size of the labor force
(C) increase in the size of the population and there is no change in the number of persons
classified as employed
{D) reduction in the size of the labor force

15. According to Adam Smith’s The Wealth of Nations, in order to get an economy out of a
depression, the government should
(A) increase spending ' (B) reduce: taxes

(C) increase spending and reduce laxes (D) allow the economy to correct itself

16. Limitations of the national income accounting system include
{A) valuing all oulput at its market price regardless of whether it conlribuies to a society’s
economic welfare
(B) placing a market value on all positive exlernalities but ignoring negative externalities
{C) accurate measurement of the value of leisure time

{D) double counting food produced on a farm for family consumption

17. The economy is in equilibrium while the government budget is in deficit and saving is less
than investment. According to the circular flow model,
{A) imports are greater than exports
{B) imports are less than exports
(C) imports equal exports

(D)it is impossible to determine give the information

18, When a linear demand curve can be expressed as () = a - b7, which region corresponds to
the elastic poriion of the demand curve? -
(A) Price ranges from % to %,. (B)Price ranges from %, 100.
(C) Quantity ranges from ¢ toa. (D) Only where quantity equals 2.

19. We could use the term “bandwagon effect” to describe which of the following situations?
{A) ] get great satisfaction from collecting rare coins because few people have them.
(B} I purchase Eudora Pro as my e-mail software package because ali of my friends and
family use it. )
(C) I purchase more chocolate bars because the price of chocolate bars falls.
(D) I decide not to purchase a Toyota Camry because, as I tell my friend, “Every other car

on the road these days looks like a Camry.”
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20. Suppose you own a business and your own price slasticity is -0.80. In addition, suppose
your advertising clasticity of dentand is 0.30. 1f your marginal cost per unit is $4, what
is your optimal advertising-to-sales ratio?

(A)0.375 (B)0.625 (C)2.670 (I 1.600

21. Which of the following is NOT a rcal-world example of second-degree price
discriminalion?

(A) A pizza parlor sells large aud small pizzas.  Although the large pizzas are twice as
big as the small pizzas, they cost less than double the price of a small pizza.

(B) An electric company sells “blocks” of power at different prices.  Specifically, any
customer who buys more that Q, units of electricily can purchase additional units a
lower block price. . _

(C) Sam’s Club® warehouses sell bulk quantities of macaroni and cheese for a cheaper
per unit price than a grocery store, but the boxes are packaged together so that the
customer must buy six boxes at a time.

(D) Amovie theater charges senior citizens a cheaper price for movie tickets than it

charges non-senior citizens for the same movic ticke!.

22 Moral hazard in auto insurance might refer o
(A} an auto owner fajling fo maintain the car, increasing the likelihood of an accident.
(B) an applicant withholding information from the insurance company about the
likelihood of having an accident, '
{C} an applicant lying on their application form.
(D) an applicant having more cars than they announce when they complete their

application.

23. Suppose over time that 2 finn’s production process incurs capital-saving technological
progress. This implies
(A) the isoquants corresponding to any patticular Jevel of output wilt shift outward from
the origin and the MRTS,  along any ray from the origin will increase.

(B) the isoquants corresponding to any particular level of output will shift outward from
the origin and the MR7S,, along any ray from the origin will decrease.

(C) the isoquants corresponding to any particular level of output will shift inward toward
the origin and the MR7S, along any ray from the origin will increase.

(D) the isoquants corresponding to any particular level of output will shift inward toward
the origin and the MRTS,, along any ray from the origin will decrease. -

24. Suppose that Bill, George, and Al constitute the entire market for consumers of national
defense. Each man has an identical demand curve for national defense, which can be
expressed as P=50-0. Suppose thal the marginal cost for national defense can be
expressed as MC =$30. What is the optimal quantily of national defense?

(A) 150 units.  (B) 60 units  (C) 40 units. (D) 20 units.
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25. An example of a good that is nonexclusive but rival is
(A) hunting in a public game area. (B} national defense.  (C) public radio.
(D) a pay-TV channel.

26. Suppose that a smoker and a non-smoker are sealed next 1o cach other in a restaurant.
This restaurant does not offer 2 non-smoking section. The smoker is indifferent between
1) smoking and 2} not smoking and consuming a $6 dessert. The non-smoker values
being able to eat in a smoke-free environment al $10.  Accerding to Coase’s Theorem,
and assuming no bargaining costs, what will happen?
(A) The smoker will continne to smoke because thatl is his right.
{B) The smoker will stop simoking, just (o be a nice guy.
(C) The non-smoker will offer to pay the smoker between $6 and $10 to stop smoking, but

the smoker will refuse because he has the right to smoke.

(D) The non-smoker will offer to pay the smoker between $6 and $10 1o stop smoking,

and the smoker will accept the money and refrain from smoking.

27. Use the following two statements to answer this question:
L. Increasing returns {o scale cause econornies of scale.
I1. Economies of scale cause increasing refums {o scale.
(A) Both Tand 1T are true.  (B) { is true and I is false,
(C) s false and I1 is true. (D) Both I and I are false.

Game I
Player B
B1 B2 B3
Al 10,12 8,8 12,10
FPlayer A A2 2,3 7,6 11,8
A3 8,5 9,4 14, 10

28. For Game 1 above, the players make their choices simultaneously, which of the following
statements is incotrect?
{A) Player A choosing Al and Player B choosing Bl is a Nash equilibrium.
{B) Player A choosiug A3 and Player B choosing B3 is a Nash equilibrium.
(C) Player B has a dominant stralegy in this game.
(D) Player B will never choose B2 in this game.

29. Suppose in Game [ above thal the players make their choices sequentially, with Player A
choosing first. The Nash equilibrium in this game will be
(A) Player A chioosing Al and Player B choosing Bl.
(B} Player A choosing Al and Player B choosing B3.
(C) Player A choosing A3 and Player B choosing B1.
(D) Player A choosing A3 and Player B choosing B3.
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30. A fanmer uses M units of machinery and L hours of labor to produce C tons of com, with
the following production function €= £+ " This production function exhibits
(A) decreasing returns io scale for all output levels
(B) constant returns to scale for afl output levels
{C) increasing returns to scale for all output levels

(D) no clear pattern of returns to scale

— AR (10 )

L MuBRIHRcHa S EMES Qu=06000—-200P 745 L 100 585 + #1758
REWF T - - FRB O AREME % TC=0.19°+2q+200 L+ q B &Mk
Heh A § o K RAMeGaBRERE - (54)

2, REA BN A 60 LB BB RIALAIE OPEC s A F A ANME LM -
oAb 40 FAMG K B3k - A - A R4 R Y | 12 OPEC fadidh A RS %
A P TC=0.025Q7 +1.6 Q100 « LT E KAAF i W » MARETHd OPEC £ ¥
W F5EF - OPEC #9RiMA FRBRFE A 7T HAIME 7S 5)
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1. Which of the following best characterizes the work of Frederick Taylor?

a’ identifying responsibilities and functions al their strategic level.

b. finding the one best way o accomplish physical tasks.

¢. developing techniques of management development.

d. recognizing that socia} relationships are important on the job.

2. Which of the folowing items is not a characleristic of bureaucracy as described

by Max Weber?

p e

s

3

a division of labor.

Favoritism among employees.

A well-developed hierarchy,
Impeisonal interpersonal relalions,

The leadership scholar thal coined the terms “Theory X and *Theory Y"

managemeni was

a.

& e -

Ll L

5.

Robert Blake
William Ouchi
Sheila Puffer
BPouglas McGregor

A work factor thal is nol an example of a “hygiene factor” is
Work thal allows personal growth

Considerate supervisors

Good pay

Good working conditions

Which of the approaches to job design is most concerned with the possibility of

meaningful work?

a. Job enrichment

b. lob rotation

¢. Job enlargement

d.  Automation

6. ISO 9000 refers to the International Standards Organization (180} cerlilication Lo
ensure

a. quality producis and services

b. on-time delivery

c. adequale safety slandards in-producls and services

d. compliance with worldwide workplace equality standards
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7. Maslow postulated that cveryone has five basic needs, which constitute a need
hierarchy. In ascending order, beginning with the most basic, they are

a. physiological, safety, social, esteem, and self-actualization needs

b. * social, safety, physiological, self-actualization, and esteem needs

c. safety, physiological, esteem, seif-actualization, and social needs

d. esteem, social, physiological, safety, and self-actualization need.

The most prominent factor in assessing competitive position in an industry is
Produclivity of the work force .

Market share

Physical resource quality

&0 TP o

Physical distribution facilities

9. Which of the following is not one of the assumptions that underlies Theory X

management?

a. by their very nature, people do not like to work and will avoid it whenever
possible.

b. workers have little ambition, try to avoid responsibility, and like to be directed.
the primary need of empioyees is job security.
the expenditure of physical and mental effort al work is as patural to people as
resting or playing.

10. - Which of the following leadership styles is best summarized by the stalement,
“work hard and the company will iake care of you.”

a. autocratic

b. authoritarian
¢. participative
d. paicrnalistic

1. “Learning organizations™ are typified by a continual focus on:
planning and recruiting

1

a

b. organizing and controlling
¢. lraining and development
d

planning and organizing

12.  Which of ihe following is false regarding divisional departmentation?

a. Departmentation by focation is recommended when customers’ needs vary in
different geographic localions.

b. Deparimentation by product line makes sense when an organization’s products are
highly similar. .

¢. Departmeniation by customer group works well when an organization serves
different categories of customers with distinct needs.

d.. Departinentation by product line is appropriate in large organizations because it

promotes coordination,
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13.  Which of the following statements is true regarding span of control?

a. Asmall span of conirol requires fewer managers.
A large span of control is possible when employees perform tasks that are similar
and standardized.

¢.. The span of control is generally larger at the top of an organization.

d. An organization requires a [arge span of control if employees need to frequently

cohsult with a manager.

14. Which of the following statements is true?

a. Upward communication frequently involves performance feedback.

b. Lateral communication often is used to send complaints through the hierarchy.
¢. Downward communication is often used for problem solving.

d. Upward communication frequently takes the form of progress reporis.

15. When properly used, systems thinking and contingency thinking

a. provide a set of clear, unified principles which can be applied unthinkingly o atl
management probleins.

b. expand on the work done by Henri Fayol in responding (o a need lo preveit vaste
by making work more sysiematic.

¢. should be helpful to achieve the overall goals of the organization existing in the
larger environment and culture,

d. utilize a few guidelines to apply to all situations.

16. The representational function of management takes place through the
and roles.

figurehead, spokesman
resource allocation, negotiator

disseminator, monitor

o g

liaison, disturbance handler

17. The decision to re-order an ttem for inventory stock is a
strategic decision

a

b. planning decision
¢. Satisficing decision
d

Programmed decision

18. Which of the following type of strategic alliance is the most formai?
a. Cooperation agreement

b. Network

¢. Long-term contracts

d. Joint venture

19, is not one of the five core ditnensions of werk,
a. skill variely

b. task idenlily

¢, task significance

d. dependence on others
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20.  An advantage of centralization is that it

a. allows lop managers to keep the organization fuocused on organizational goals.

b. gives lop managers time 10 focus on strategic decision making,

¢. Increase the motivation of middle managers.

d. Encourages fexibility.

21.  Which of the following is nol a characteristic of an organic structure?

a. Integrating mechanisms are complex.

b. Coordination is achieved through standardization.

c. Roles are loosely defined.

d. Both the informal and formal authority refationships change in response to

changing internal conditions.

22, Which of the following would be viewed as single-use plans?

a. rules

b. policies
¢. budgets
d. procedures

23, Which of the following functions would be respounsible for implementing a
just-in-time invenlory system?

a. Human resources

b. R&D

¢. Marketing

d. Materials management

24, Which of the following is an advantage of a focus strategy?
Economies of scale
.Economies of scope

Customer responsiveness

e e oop

A larger domain

25. ln the popular description of industry fife cycles, the growth stage is
immediately followed by

a. Decline

b. Development
c. Maturity
d

Competilive adjusiment
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